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empt the questions contained in these sechions
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SECTION -1
HrE —1

Note : This section contains five {5} questions based on the following
paragraph. Each gquestion should be answered in about thirty {30
words and each carries five {5) marks.
{(5x5=25 ma
A eReekReciav cESCEAE G ERES Rk SR L A s ik
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%)

Workers are ke flowers. They have to be gently and de ed. A

flower will not attain its full grandeur unless itis allowed o blossor€Nglly #Workers too

would not be able to reach their full heights of efficiency unle o allowed to
blossom fully.

A flower cannot be enjoyed by either squeezi
cannot be made to be productive by either squeezin

If every single flower is like an individual waor.
trade urdon of workers. We all know, itis the
into a garland. Similarly, it is the leadership
uniorn. The leader then is like the thread.

In a good garland the thread wi
will be prominert. Similarly,ina go
It would be the workers who wo
place.

This will show that just ad is for the garland and the garland is not for
the thread; the leader is fof the and not the urndon is for the sake of the leader.

e

land of finwers iz like a
inds the individual flowers
the individual workers Into a

izsible. It will be ornly the flowers that
jor, the leaders would not be prorminent.

be Wgominent and they would have the pride of

But today it often see thetinion is more for the leaders than for the workers.
Most unions are lea ile the leader himself is based somewhere else. All
unions must beco ased. Such a change should be brought about quickly.

If in a garlan e thread is prominent and visible everywhere and not the
flowers, suchq§ garla ould look ugly. Indeed, that would then be no garland at all
Similarly, inf® where the leaders alone are prominent and not the workers, it

urnion at all.
has no fragrance of its owr. If it has any fragrance, itis an acquired one
a ds upon whatever fragrance the flowers give it. Simnilarly, the leaders acquire
the workers.
good garland is weighty, majestic and grand. Similarly, a good trade union
ould have all these atbributes. Let us therefore, knit the workers irdo a grand majeshz,
d and beautiful union.
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1. What lessons follow from this
TE adw & wy Tese o 3
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2. What are the suggestions made by the passage for the Trade urdon leadership 7
TH iy el wn Tee & werey o a ey el 57

3. How the importance of workerzgd & utions is highlighted by the passage 7

pe s R G R e R & e s TEn e wsdm e WY
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4. “Mostunions are leader based while the leader himself iz based somewhere” - conveys
some hidden meaning. What it could be ?

" % gE vn Yewe aephe §owatys Tt e ampwd dnE0 - wmoamm i wn

R gl R

5. How the simnilies drawn in the areMustified ?
35 iy f @ naee vl 1€ it &7
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SECTION - II
H|/rE—II

Note : This section contains fifteen (15) guestions each to be answered in
about thirty {30} words. Each question carries five {3 marks.

(Fx15=75 marks)

2
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O
6.  What is systems Approach of Management 7
WARE E Ry o wn gy @ ¢

37)

O
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7. What are sermantic bartiers in cormrornunication ?

wapn i aderety e AR am B

8. Why Job Analysis is a basic hu?®nl 7

TRy Tavamynr g EEnEY He
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9.  Explain the hnportance of HRD in modern organizations.
sy vosd g gy deep Mem m w1y

10. What are the recent trends in o cappraisal 7
wd- e &Y fra f syl 7
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11. What is organizational effectiveness 7
s mieEn e Y

12. Bring out the concept of industg tio

‘afreinp. mERY W
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13. Why collective bargaining is regarded as the best method for settling industrial
disputes ?

wrghee ShEave @ P wuepe @ e B e vl o wm W B

14. Bring out the important object
gy e e wmyt g
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15. What changes do you propose in the Industrial Disputes Act, 1947 7
sty fayare sy, 1047 & e o REw W @ i wng ¥

14. What benefits are available to ]
Act 1948 7

uRgial Workers under Employees” State Insurance

EHa R B gy ety Priter aifevlirer efirart ofy afber ol B e weveRl B
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17. Bring out the procedure for certification of standing orders under Industrial Ernployrnent

{Standing ordersy Act, 1946,

Sy B (el sndey afferg 1946 % sl el awdwt ey oyl 3 Yo wp
ariva: fomp rom B

18. What do you understand by p
s e I Rt el B

of labour welfare ?
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19. Distinguish between statutory and non - statutory welfare facilities with examples.
g esp vhenr g e SRpaR Wl Tam 3 gu s aad)

20. What are the different types of
i & P B o Y W
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MNote :

21.

22,

23,

24,

25.

] —5506

What should be the role of employers,

relations scenario in India ?
v et wdu & ogwalow
Chi

Evaluate the worki

sy o afefiar w

SECTION - III
H/UrE 111

This section cortains five (3} questions from each of the electives /
specialisations. The candidate has to choose only one elective /
specialisation and answer all the five questions from it. Each question
carties twelve {12 mnarks and is to be answered in about two hundred
{200} words.

(12x5= ar

5wy f vetE themw vk /TR B R (5 Uy apvas g
v UrEnE g Vavgn a et i g B o wel a e g
AR (12 SRR B wmy wm wenyrr Sy E (200 wEt g

@ [12x5 50 31EF)

Elective - I

[ opc o U |

and state In the changing industrial

P, HWEL R A nEE wl e iy g

in industrial relations in India
fogpanee Yom waEv e BT IR R

ot and cooperation are two impnrtant aspects of iIndustrial relations”. Cornment.

e A we aRer wEy & 9 g v T el

Bring out the Impontart features of industrial relatiorns in USA.
Ry & sy day al gy Tedveed w vt wl

OR / 3t
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21.

22,

23.

24,

25,

Elective - 11

Ty — 11

Discuss the concept of Total Quality Management. What are its techmigques 7

Fezey wapferd HEwie w7 avapprey w7 wwt £l 3w wmewy & gadt ¥

Differentiate between training and development. How effectiviiess ff training is
evaluated ?

=

, . g .
T el wiwarn f ey sy By ufnesw T weesmeler wy St e ey

Distinguish between personnel managermen: (@n Resource Management and
bring out the importance of HRM in the prggnt tio.

g B e dred y He o wa s,

ETRIATITI] ARy A R EERA AR
I o T Wy

=2

Do you feel that erggggenc ol multinational companies in India has created many

challenges in the fi g‘ R

Hate betweern right - sizing and down - sizing. What steps are being taken by
= Coverninert of India to extend relief to the victims of downsizing 7

wha-mEbee” aap g wte o aeganyy mEs watin & wvigs efyat o v 8
I oEy L WE RE an - S ey ymr o B

OR / 3t
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Elective - III

ey — 111

21. Discussin detail any two princples of labour legislation.

wg- Tt & Yoprgl @ Yot o} Topnge et )y

22, ‘Labour legislations in India are dynamic but not effective’ t.

‘s O meev watereley B owis weual gty Yool

’b'

23. TBriefly examine the recormmendations nd National Corronission on Labour

pertaining o labourlegislations in beern the response of the Governrrent
of India towards these recormnen

s o feety mety my 2wy # e g

Tornfeed & outy s BRE

24. ‘Labourl ns®h India need drastic amendmerts to keep pace with the ongoing
policy tior”. Do you agree with the staternent 7

TR T W BT A & v e Wy I Yo wy et o Wil T s
SRR Eﬁ-}'ﬂ' BEHa " <=. ¢

25. How has the Indian Constitution influenced the formulation of Labour Legislation in
India ?

suge o wery apfuterrn oy wpod & ey apy sty BNy ¥ Spw v msutae e Ey
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SECTION - IV

|rE—IV

Note : This section consists of one essay type question of forty (40 marks to
be answered In about one thousand {1000} words on any of the
following topics.

{40x1= a

iz T v weltE (40 s ay raneper T F Pasey wa
Farers 8 e W T, SR TR EWE {1000} wat F arifaa ¥

& (40x1=40 3TF)

26. Disouss the changing scenario of industrial relations and reflect upon the role
of the parties to industrial relations in coming #

s i wefn & yeed gy wiesy €T g w Nl T ey F dbeife diin &

Pegfem el wt vl w B wehy

How the HRM strate gieRar de compatible with the corporate strategies ?
Substantiate your uitable examples.

qEry R EY
AP

i SR O W R SR W W nwe B AR wana

OR / arra

What are the botflenecks in the present labour legislations in India which hamnper the

Implemertation of policy of liberlisation What measures do you suggest to remove
these impediments.

i 3 g wy e v e st W relam et T vpr e d e T
wfepdt ey gy & for aew wn wmy B
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